
MATHS

BOOKS - NAVBODH MATHS (HINGLISH)

APPLICATIONS OF DEFINITE

INTEGRALS ( AREA )

Solved Examples

1. Find the area of the region bounded by

parabola  and the line .y2 = 16x x = 3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uKmoKpvnw3C6


Watch Video Solution

2. Find the area of the region bounded by the

curve , the lines 

and X- axis.

Watch Video Solution

y = sinx x = − , x =
π

2

π

2

3. Find the area of the region bounded by the

curve , lines  and Y - axis

lying in the first quadrant.

x2 = 16y y = 2, y = 6

https://dl.doubtnut.com/l/_uKmoKpvnw3C6
https://dl.doubtnut.com/l/_imHpSX7rw7i9
https://dl.doubtnut.com/l/_0bfD2lvcEr60


Watch Video Solution

4. Find the area of the region bounded by the

ellipse 

Watch Video Solution

+ = 1
x2

a2

y2

b2

5. Find the area, lying above the x=axis and

included between the circle 
and

the parabola 

Watch Video Solution

x2 + y2 = 8x

y2 = 4x.

https://dl.doubtnut.com/l/_0bfD2lvcEr60
https://dl.doubtnut.com/l/_Z2VQXEDl1HQt
https://dl.doubtnut.com/l/_ytx36aiHnPcO


6. Find the area bounded by the cirxle

 and the line y=x in the first

quadrant .

Watch Video Solution

x2 + y2 = 16

7. Find the area of the region included

between the
 parabolas

Watch Video Solution

y2 = 4axandx2 = 4ay, wherea > 0.

https://dl.doubtnut.com/l/_ZYDnOMm0glGc
https://dl.doubtnut.com/l/_dsdckHhyOyyD
https://dl.doubtnut.com/l/_3uvX2dhlLM2W


8. The area bounded by the curves

 and lines x = 1 and y = 4a is

Watch Video Solution

y2 = 4a2(x − 1)

9. Find the area enclosed between the circle

 and the line  lying in

the first quadrant.

Watch Video Solution

x2 + y2 = 1 x + y = 1

https://dl.doubtnut.com/l/_3uvX2dhlLM2W
https://dl.doubtnut.com/l/_s54aNojszFCk


Examples For Practice 2 Marks

10. The area bounded by the loop of the curve

 is

Watch Video Solution

y2 = x2(1 − x)

1. Find the area of the region bounde by the

curve  , the X - axis and the

lines .

Watch Video Solution

y = √16 − x2

x = 0, x = 4

https://dl.doubtnut.com/l/_CHx8MDNOqj0w
https://dl.doubtnut.com/l/_kUuLHniobIqb


2. Find the area of the region bounded by the

parabola  and the line .

Watch Video Solution

y2 = 16x x = 4

3. Find the area of the region bounded by the

parabola , X- axis and the lines

.

Watch Video Solution

y2 = 4x

x = 1, x = 4

https://dl.doubtnut.com/l/_kUuLHniobIqb
https://dl.doubtnut.com/l/_WtajK8ZocOnU
https://dl.doubtnut.com/l/_xfgOuycu42Wl
https://dl.doubtnut.com/l/_xZ1Ev4rPWGOF


4. Find the area of the region bounded by the

curve , the X - axis and the lines

.

Watch Video Solution

y = √6x + 4

x = 0, x = 2

5. Find the area bounded by the curve

, X - axis and the lines

.

Watch Video Solution

y2 = 4ax

x = 0 and x = a

https://dl.doubtnut.com/l/_xZ1Ev4rPWGOF
https://dl.doubtnut.com/l/_aKEx40g7dECB


6. Find the area of the region bounded by the

curve  between .

Watch Video Solution

y = sinx x = 0 and x = 2π

7. Examples: Find the area bounded by the

parabola  and its latus rectum.

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_GYC8AVa6ByPv
https://dl.doubtnut.com/l/_m3jDXp6Fotnv


Examples For Practice 3 Or 4 Marks

8. Find the area of the region bounded by the

curve  and the line .

Watch Video Solution

y = x2 y = 4

1. Find the area of the 

(1) circle . 

(2) ellipse .

Watch Video Solution

x2 + y2 = 25

+ = 1
x2

1

y2

4

https://dl.doubtnut.com/l/_xR21V68nPTdm
https://dl.doubtnut.com/l/_abHg3xGkDEkE


2. Find the area of the region included

between the
 parabola 
 and the
 line 


.

Watch Video Solution

y2 = x

x + y = 2

3. Using integration, find the area of the

region common to the circle 

and the parabola .

Watch Video Solution

x2 + y2 = 16

y2 = 6x

https://dl.doubtnut.com/l/_abHg3xGkDEkE
https://dl.doubtnut.com/l/_61uCj16iy1Rv
https://dl.doubtnut.com/l/_jTGnQpJlBhXR


4. Find the area of the region lying between

the parabolas .

Watch Video Solution

4y2 = 9x and 3x2 = 16y

5. Find the area of the loop of the curve

.

Watch Video Solution

y2 = x(1 − x)2

https://dl.doubtnut.com/l/_Cvf2XHt6gJKo
https://dl.doubtnut.com/l/_EtFWsR3jnshn

